HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT No.PW-AD-EA-I-Tender-2025-26 8409-17

Dated: 29/11/2025

To

The Executive Engineer (IT Cell) H.P.P.W.D. Nigam Vihar Shimla-2.

Subject:-

Notice Inviting Tender for uploading the same on departmental website.

Enclosed please find herewith Notice Inviting Tender (NIT) of various works in respect of this office as per notification Secy.(PW) to the Govt. of Himachal Pradesh letter no. PBW(B)A0(3)8/2025-300858 dated shimla-2 the 09.10.2025 as the works mentioned in the tender notice are uploading the same on departmental website at the earliest please.

Encl:-Copy of NIT

Executive Engineer, Arki Division H.P.P.W.D. Arki. Ph. 01796-220714

Copy forwarded for the following for information and necessary action to:-

The Engineer-in-Chief, HPPWD., Nirman Bhawan, Nigam Vihar, Shimla-2 1.

The Chief Engineer, (SZ) HPPWD., Nirman Bhawan, Nigam Vihar, Shimla. 2.

The Superintending Engineer, 3rd Circle, HPPWD., Solan. 3.

The Deputy Commissioner Solan, Distt. Solan. 4.

The Sub Divisional Magistrate Arki. 5.

All the Executive Engineers in HPPWD, (SZ). 6.

All the Assistant Engineer, working under this division.

7. All the heads of the branches in this office. 8.

Notice Board. 9.

> Executive Engineer, Arki Division I.P.P.W.D. Arki.

Rh. 01796-220714

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT NOTICE INVITING TENDER

Sealed percentage tenders on PWD Form 6 & 7/8 are hereby invited by the Executive Engineer Arki Division H.P.P.W.D. Arki on behalf of Governor of Himachal Pradesh for the followings works from the eligible contractors enlisted in H.P.PWD. (B&R) whose registration stood renewed as per revised rules and also registered under the Central Goods and Service Tax Act, 2017 so as to reach in this office on before 9.12.2025 up to 11:30 AM and the same shall be opened on the same day at 12:00 A.N. in the presence of intending contractors or their authorized representative who may like to be present. The Tenders documents can be had from this office against cash payment (Non-refundable) on 8.12.2025 up to 4:30 PM and the application for issue of tender form shall be received on 8.12.2025 up to 5:00 PM.

The amount of earnest money in the shape of NSCs/FDR deposit at call of any of the Post office/Bank duly pledged in favour of Executive Engineer Arki Division HPPWD Arki must be accompanied with the application for tender documents. Please not no exemption order of earnest money will be entertained. Conditional tenders and the tenders received without earnest money as mentioned above will similarly be rejected. The offer of the tenders shall be dept open for 75 days. The Executive Engineer reserve right to reject any tender of all tenders without assigning any reasons. If it happens to be a holiday on the day of opening of tenders the same will be opened on next working day at the same time and venue.

Sr. No	Name of Work	Estimated Cost	Earnest Money	Time	Cost of Form
1	A/R & M/o on Kandhar Beral road km. 0/0 to 14/0(SH:-Providing and laying Mix seal surfacing for pothole/Patch repair in Km. 1/0 to 1/200)Under MMSRRY 2025-26	99,668/-	2,000/-	1 Month	350/-
2.	A/R & M/o on Kandhar Beral road km. 0/0 to 14/0(SH:-Providing and laying Mix seal surfacing for pothole/Patch repair in Km.	On Kandhar Beral road km. 0/0 to oviding and laying Mix seal or pothole/Patch repair in Km. 1/0 oviding and laying Mix seal or pothole/Patch repair in Km. 400)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal or pothole/Patch repair in Km. 400)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal or pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26 On Kandhar Beral road km. 0/0 to oviding and laying Mix seal for pothole/Patch repair in Km. 600)Under MMSRRY 2025-26	2,000/-	1 Month	350/-
3	A/R & M/o on Kandhar Beral road km. 0/0 to 14/0(SH:-Providing and laying Mix seal	99,805/-	2000/-	1 Month	350/-
4	A/R & M/o on Kandhar Beral road km. 6/6 to 14/0(SH:-Providing and laying Mix seal	1	2000/-	1 Month	350/-
5	1/800 to 2/00)Under MWSKK 2023 20 A/R & M/o on Kandhar Beral road km. 0/0 to 14/0(SH:-Providing and laying Mix seal	99,790/-	2000/-	1 Month	350/-
	1/600 to 1/800) Under Williams Health Centre at	98,687/-	2000/-	1 Month	350/-
6	Special Repair to Ayurvedic Health Storage Bhumti(SH:-P/F Tanki Stand, Water Storage Tank, Grills and C/o C.C. B/wall, 2 nd Step)Deposit				

*	Division, HP, PWD, Kunihar under Mann section (SH:-Removal of slips/dressing of roads	99,000/-	2000/-	fifteen days	350/-
3	by hiring of JCB in various roads etc)Job No.IV) Restoration of rain damages on Kunihar Sub- Division,HP,PWD, Kunihar under Kunihar section(SH:-Removal of slips/dressing of roads by hiring of JCB in various roads etc)Job No.11)	99,000/-	2000/-	fifteen days	350/-
9	R/R damages on Malaun Khas to Jobi km. 0/0 to 2/750(SH:-C/o wire crate at RD 2/685 to 2/700)Under PDNA balance work.	3,15,132/-	7000/-	1 Month	350/-
10	R/R damages on Bhararighat Ali Bhurjani road km. 0/0 to 6/0(SH:-C/o R/wall at RD 1/300 to 1/308)	1,04,735/-	2095/-	2 Month	350/-
11	R/R damages on Bhararighat Ali Bhurjani road km. 0/0 to 6/0(SH:-C/o R/wall at RD 2/650 to 2/658)	1,03,873/-	2077/-	2 Month	350/-
12	R/R damages on Shalaghat Arki Kunihar Barotiwala road km. 17/500 to 26/0(SH:-C/o B/wall in km. 20/780 to 20/792)Under PDNA	1,42,706/-	3,000/-	1 Months	350/-

Followings documents should be attached with the application for tenders:-

The Contractors are requested to be produced a copy of their PAN No. GST No. copy of enlistment renewed letter and EPF certificate alongwith FDR against earnest money. (i)

Special care would be taken to write the rates both in figures and in word failing which (ii) tender is likely to be rejected.

xecutive Engineer rki Division, P.P.W.D. Arki.

No: PW-AD-EA-I-Tender-2025-26-

Copy forwarded for the following for information and necessary action to:-

1. The Superintending Engineer 3rd Circle HPPWD Solan. 2. The all Assistant Engineer working under this division for information and necessary action.

3.All the heads of the branches in this office.

4. Notice Board.

Dated:-

Executive Engineer Arki Division P.P.W.D.Arki.

Certificate

Certified that the tenders called vide this notice inviting tender for

12(Twelve) jobs are due to exigencies/emergency of works in the larger public interest.

Executive Engineer rki Division P.W.D. Arki.

NAME OF WORK:- A/R and M/O on Kandhar Beral road km 0/00 to 14/00.(SH:-Providing and laying Mix Seal Surfacing for pothole/Patch repair in KM 1/00 to 1/200) under MMSRRY 2025-26

Estimated Cost :- Rs 99,668.00 Earnest money :- Rs 2,000.00

Time: one months

Sr.No	Sub Head and Items of Work		Qty.		Rate	Unit	Amount
1	2		3	In figure	In words	6	7
	Providing and applying tack coat with Bitumen emulsion (RS-I) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.275 kilogramme per square meter using mechanical means as per Technical Specification Clause 502 (Five hundred Two) including carriage of materials in all leads and lifts as per entire satisfaction and direction of Engineer-in-Charge.	275.59	sqm	21.65	Rupees Twenty One and Sixty five paise Only	Per square metre	5967.00
2.00	Mix Seal Surfacing Providing Laying and rolling of close graded premix surafcing materials of 20 mm thickness composed of 11.2 mm to 0.90 mm (Type-A) or 13.20 mm to 0.90 mm (Type-B) aggregates using penetration grade bitumen of required line grade and level to serve as wearing course on a previously prepared base including mixing in a suitable paint laying and rolling with a three wheel static roller 8-10 KN static roller and finsihing to required level and grades as per technical specification clause 509 complete in all respects including carriage of materials with in all leads and lifts as per the direction of Engineer in charge	275.59	sqm	340.00	Rupees Three Hundred Forty and Zero paise Only	Per square metre	93701.00
		-				Total	99668.00

Conditions:- (i) All the material will be procured by the contractor himself and bills will be submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

NAME OF WORK, A/D	SCHEDULE OF QUANTITY
NAME OF WORK:- A/R and M/O on K	andhar David
and laying Mix Seal Surfacing for potho	le/Patch repair in KM 1/200 to 1/400) under
MMSRRY 2025-26	16/1 atch repair in KM 1/200 to 1/400) under

Estimated Cost :- Rs 99,707.00 Earnest money :- Rs 2,000.00

Sr.No	Sub Head and Items of Work				Time: one months		
	and Head and Hems of Work		у.		Rate	Unit	Amount
1	2	3		In figure	In words	Per square metre	7
	Providing and applying tack coat with Bitumen emulsion (RS-I) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.275 kilogramme per square meter using mechanical means as per Technical Specification Clause 502 (Five hundred Two) including carriage of materials in all leads and lifts as per entire satisfaction and direction of Engineer-in-Charge.	275.70	sqm	21.65	Rupees Twenty One and Sixty five paise Only		5969.00
2.00	Mix Seal Surfacing Providing Laying and rolling of close graded premix surafcing materials of 20 mm thickness composed of 11.2 mm to 0.90 mm (Type-A) or 13.20 mm to 0.90 mm (Type-B) aggregates using penetration grade bitumen of required line grade and level to serve as wearing course on a previously prepared base including mixing in a suitable palnt laying and rolling with a three wheel static roller 8-10 KN static roller and finsihing to required level and grades as per technical specification clause 509 complete in all respects including carriage of materials with in all leads and lifts as per the direction of Engineer in charge	275.70	sqm	340.00	Rupees Three Hundred Forty and Zero paise Only	Per square metre	93738.00
-						Total	99707.0

Conditions:- (i) All the material will be procured by the contractor himself and bills will be submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

NAME OF WORK:- A/R and M/O on Kandhar Beral road km 0/00 to 14/00.(SH:-Providing and laying Mix Seal Surfacing for pothole/Patch repair in KM 1/400 to 1/600) under MMSRRY 2025-26

Estimated Cost :- Rs 99,805.00

Earnest money :- Rs 2,000.00

C N					Time: one months		
Sr.No	Sub Head and Items of Work		Qty.		Rate	Unit	Amount
1	2	3	3	In figure	In words	6	7
	Providing and applying tack coat with Bitumen emulsion (RS-I) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.275 kilogramme per square meter using mechanical means as per Technical Specification Clause 502 (Five hundred Two) including carriage of materials in all leads and lifts as per entire satisfaction and direction of Engineer-in-Charge.	275.97	sqm	21.65	Rupees Twenty One and Sixty five paise Only	Per square metre	5975.0
2.00	Mix Seal Surfacing Providing Laying and rolling of close graded premix surafcing materials of 20 mm thickness composed of 11.2 mm to 0.90 mm (Type-A) or 13.20 mm to 0.90 mm (Type-B) aggregates using penetration grade bitumen of required line grade and level to serve as wearing course on a previously prepared base including mixing in a suitable paint laying and rolling with a three wheel static roller 8-10 KN static roller and finsihing to required level and grades as per technical specification clause 509 complete in all respects including carriage of materials with in all leads and lifts as per the direction of Engineer in charge	275.97	sqm	340.00	Rupees Three Hundred Forty and Zero paise Only	Per square metre	93830.0
						Total	99805.

Conditions:- (i) All the material will be procured by the contractor himself and bills will be submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

NAME OF WORK:- A/R and M/O on Kandhar Beral road km 0/00 to 14/00.(SH:-Providing and laying Mix Seal Surfacing for pothole/Patch repair in KM 1/800 to 2/00) under MMSRRY 2025-26

Estimated Cost :- Rs 99,668.00 Earnest money :- Rs 2,000.00

Time: one months

2025-	40				I fille. Offe months	Unit	
Sr.No	Sub Head and Items of Work	Qty.			Rate		Amount
1	2	3		In figure	In words	6	7
2.00	Providing and applying tack coat with Bitumen emulsion (RS-I) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.275 kilogramme per square meter using mechanical means as per Technical Specification Clause 502 (Five hundred Two) including carriage of materials in all leads and lifts as per entire satisfaction and direction of Engineer-in-Charge. Mix Seal Surfacing Providing Laying and rolling of close graded premix surafcing materials of 20 mm thickness composed of 11.2 mm to 0.90 mm (Type-A) or 13.20 mm to 0.90 mm (Type-B) aggregates using penetration grade bitumen of required line grade and level to serve as wearing course on a previously prepared base line grade and level to serve as wearing and rolling with a three wheel static including mixing in a suitable palnt laying and rolling with a three wheel static roller 8-10 KN static roller and finsihing to required level and grades as per roller 8-10 KN static roller and finsihing to required level and grades as per technical specification clause 509 complete in all respects including carriage of materials with in all leads and lifts as per the direction of Engineer in charge	275.59	sqm	340.00	Rupees Twenty One and Sixty five paise Only Rupees Three Hundred Forty and Zero paise Only	Per square metre Per square metre Total	93701.0

Conditions:- (i) All the material will be procured by the contractor himself and bills will be

submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

NAME OF WORK:- A/R and M/O on Kandhar Beral road km 0/00 to 14/00.(SH:-Providing and laying Mix Seal Surfacing for pothole/Patch repair in KM 1/600 to 1/800) under MMSRRY 2025-26

Estimated Cost :- Rs 99,790.00

Earnest money :- Rs 2,000.00

Time: one months

Sr.No	Sub Head and Items of Work		Qty.		Rate		Amount
1	2	3	3	In figure	In words	6	7
1.00	Providing and applying tack coat with Bitumen emulsion (RS-I) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.275 kilogramme per square meter using mechanical means as per Technical Specification Clause 502 (Five hundred Two) including carriage of materials in all leads and lifts as per entire satisfaction and direction of Engineer-in-Charge.	275.93	sqm	21.65	Rupees Twenty One and Sixty five paise Only	Per square metre	5974.0
2.00	Mix Seal Surfacing Providing Laying and rolling of close graded premix surafcing materials of 20 mm thickness composed of 11.2 mm to 0.90 mm (Type-A) or 13.20 mm to 0.90 mm (Type-B) aggregates using penetration grade bitumen of required line grade and level to serve as wearing course on a previously prepared base including mixing in a suitable palnt laying and rolling with a three wheel static roller 8-10 KN static roller and finsihing to required level and grades as per technical specification clause 509 complete in all respects including carriage of materials with in all leads and lifts as per the direction of Engineer in charge	275.93	sqm	340.00	Rupees Three Hundred Forty and Zero paise Only	Per square metre	93816.0
	materials with in all leads and fitts as per the direction of Engineer in energy		1			Total	99790.

Conditions:- (i) All the material will be procured by the contractor himself and bills will be submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

71 1 % " a x 1 1 1 0 0 4 1

lam	SCHEDULE OF QUANTITY			Estimated Cos	t: -Rs98687/-	only	
tor	ne of Work:-Special Repair to Ayurvedic Health Center at Bhumti (SH:- P/F Tai age Tank, Grills and C/O C C. B(wall 2nd Stop) (Pagesit)	nki Stand	, Water	Earnest Mone	y -Rs2000/-	0/-Only	
_	age Tank, Grills and C/O C.C. B/wall 2nd Step) (Deposit)			Time -0	-One Month		
S. No.	Sub head and items of work	Qty.		Rate In	Unit	Amount	
1	2		Figure	Words	1		
	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works including carriage of materials in all leads and lifts, and as per the direction of Engineer-In-Charge.	279.20	107.45	Rupees one hundred seven and paise fourty five only	P.Kg	30000	
2	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank. in all leads and lifts, and as per the direction of Engineer-In- Charge	1000.00	8.80	Rupees eight and paise eighty only	P.Lit.	8800	
3	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc. Complete and as per the direction of Engineer-In- Charge (15 mm dia nominal bore.)	20.00	225.50	Rupees two hundred twenty five and paise fifty only	P. Rmt	4510	
4	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete in all leads and lifts, and as per the direction of Engineer-In- Charge.	135.00	129.20	Rupees one hundred twenty nine and paise twenty only	P.Sqm	17442	
5	Providing and laying concrete for plain /reinforced concret in open foundation complete as per drawings and technical specifications MORD clause 802,803, 1202 &1203 . P.C.C. nominal mix 1:5:10 (1 cement: 5 sand :10 aggregates-40mm)including carriage of materials in all leads and lifts, and as per the direction of Engineer-In- Charge	8.64	4390.60	Rupees four thousand three hundred ninety and paise sixty only	P.Cum.	37935	
					Total	98687	

Quoted Rate Percentage in Figure

Quoted Rate Percentage in Words

Executive Engineer Arki Division HPPWD Arki

iring o	of JCB for removal of slips, dressing of roads, cleaning of drains etc.) (Job	No-IV)			Earnest Money : Rs 2000 Time -One Months) /-0nly	
.No.	Sub head and items of work	Qty.		Rate	Time -One Months	Unit	Amount
	Hiring of JCB removal of land slide in hilly area in ordinary rock not requiring blasting by mechnical means including cutting and trimming of slops and disposal of cut materials with in all lead and lifts as per technical specification 302.3.5 and 1611 including carriage of materials upto all leads and lifts and as per the direction of Engineer-in-Charge.	3		In figure	In words	6	7
		il .		Hours	1000.00	Rupees One Thousand Only	d Per hour
ĺ						Total:-	99000.00

Quoted rate percentage in figures
Quoted rate percentage in words

Executive Engineer BOD Division HAPWE

SH:- H	of Work:- Restoration of rain damages on various roads under Kunihar Sulliring of JCB for removal of slips, dressing of roads, cleaning of drains etc.	b Division	Kunihar	Section	Estimated Cost: -Rs 99,		
	or drain's etc.) (300 14	0-11)		Earnest Money: Rs 200	0 /-0nly	
	E i I i i i i i i i i i i i i i i i i i				Time -One Months		
S.No.	S.No. Sub head and items of work			Rate	•	Unit 6	Amount
1	2	3		In figure	In words		7
1	Hiring of JCB removal of land slide in hilly area in ordinary rock not requiring blasting by mechnical means including cutting and trimming of slops and disposal of cut materials with in all lead and lifts as per technical specification 302.3.5 and 1611 including carriage of materials upto all leads and lifts and as per the direction of Engineer-in-Charge.	f.	Hours	1000.00	Rupees One Thousand Only	Per hour	99000.00

Quoted rate percentage in figures Quoted rate percentage in words

PR Division HAPWE

Name of work :-R/R damages on Malaun Khas to Jobi Km 0/00 to 2/750. (SH:-C/O Wire Crate at RD 2/685 to 2/700) Under PDNA balance work

Estimated Cost :- Rs 3,15,132.00
Earnest money :- Rs 7,000.00

Time: One month

					Time: One month		
Sr.No	Sub Head and Items of Work		Qty.		Rate	Unit	Amount
1	2	3		In figure	In words	6	7
1.00	Earthwork in excavation for structures as per drawing and technical specification clause 305.1 including setting out construction of shoring and bracing ,removal of stumps and other deleterious materials and disposal of surplus excavated earth upto all leads and lifts dressing of sides and bottom and backfilling in trenches with excaveted suitable materials and disposing of unserviceable material, disposed earth to be levelled and neatly dressed as per MORD Specification and as per the	37.50	Cum		Seventy One and Forty paise Only	Per cubic metre	6428.00
2.00	direction of Engineer-In- Charge Providing and Laying of boulder apron laid in wire crate with 4 mm dia G.I. wire confirming to IS 280 and IS 4826 in 100 mm x100 mm mesh(wovendiogonally) i.e. 10% extra for laps and joint with stone boulder weighing not less than 25 kg each as per drawing and technical specifications clause 1301 complete. complete as per HP. PWD specifications of 1990 volume-I including carriage of materials, labour, tool and plant through all modes of transportion within all leads and lifts and as	93.75	Cum	3004.05	Rupees Three Thousand Four and Five paise Only		281630.0
3.00	per direction of Engineer-in- Charge.	22.50	Cum	1203.30	Rupees One Thousand Two Hundred Three and Thirty paise Only	Per cubic metre	27074.00
1						Total	315132.00

Conditions:- (i) All the material will be procured by the contractor himself and bills will be submitted.

Quoted Rate Percentage in Figures Quoted Rate Percentage in Words

DRAFT SCHEDULE OF QUANTITY

tame Of Work :-R/R damages on Bhararighat Ali Bhurjani road km 0/00 to 6/00 (SH:- C/O R/Wall at Rd

Estimated Cost:-104735/-Earnest Money:-2095/-

-	Sub head and items of work			Rate In	Unit	Amount
S No.		Quantity	Figure	Words		
	2	3		4	5	6
1	Earth work in excavation for structures as per drawing and technical specifications clause 305.1 including setting out construction of shoring and bracing, renoval of stumps and other deleterious materials and disposal upto all leads and lifts dressing of sides and bottom and backfilling in trenches with excavated suitable materials as per MORD Specification directed by Engineer-In-Charge	16.56	171.4	Rupees one hundred seventy one and forty paise only	P.cum.	20
2	Providing and laying concrete for plain/reinforced concretein open foundation complete as per drawings and technical specificationsMORD clause 802,803,1202&1203 P.C.C. nominal mix 1:5:10(1 cement : 5 sand : 10 aggregates-40mm) including carriage of materials in all leads and lifts and as per the direction of Engineer-In-Charge	20.88	4390.6	Rupees four thousand three hundred ninty and sixty paise only	P.cum.	9167
3	Back filling behind abutment wing wall and retaining wall complete as per drawings & technical specification Clause 1204.3.8 including carriage of materials in all leads, lifts and as per the direction of Engineer-In-Charge	5.76	1203.3	Rupees one thousand two hundred three and thirty paise	P.cum.	693
4	Providing and laying 100mm dia meter PVC pipe for wheep holes complete of approved quality including carriage of material within all leads, lifts and as per the direction of Engineer-In-Charge	12.00	274.25	Rupees two hundred seventy four and twenty five paise only	P.Rmt.	3291
				Total		104735



DRAFT SCHEDULE OF QUANTITY

Estimated Cost:-103873/-

Name Of Work :-R/R damages on Bhararighat Ali Bhurjani road km 0/00 to 6/00 (SH:- C/O R/Wall at Rd 2/650 to 2/658) (PDNA)

Earnest Money:-2077/-

Time:-Two Months

S No.	Sub head and items of work			Rate In	Unit 5	Amount 6
		Quantity	Figure	Words		
1	2	3		4		
1	Earth work in excavation for structures as per drawing and technical specifications clause 305.1 including setting out construction of shoring and bracing, renoval of stumps and other deleterious materials and disposal upto all leads and lifts dressing of sides and bottom and backfilling in trenches with excavated suitable materials as per MORD Specification directed by Engineer-In-Charge	11.53	171.4	Rupees one hundred seventy one and forty paise only	P.cum.	1975
2	Providing and laying concrete for plain/reinforced concretein open foundation complete as per drawings and technical specificationsMORD clause 802,803,1202&1203 P.C.C. nominal mix 1:5:10(1 cement : 5 sand : 10 aggregates-40mm) including carriage of materials in all leads and lifts and as per the direction of Engineer-In-Charge	20.88	4390.6	Rupees four thousand three hundred ninty and sixty paise only	P.cum.	91676
3	Back filling behind abutment wing wall and retaining wall complete as per drawings & technical specification Clause 1204.3.8 Including carriage of materials in all leads, lifts and as per the direction of Engineer-In-Charge	5.76	1203.3	Rupees one thousand two hundred three ' and thirty paise	P.cum.	6931
4	Providing and laying 100mm dia meter PVC pipe for wheep holes complete of approved quality including carriage of material within all leads, lifts and as per the direction of Engineer-In-Charge	12.00	274.25	Rupees two hundred seventy four and twenty five paise only	P.Rmt.	3291
				, Jotal		103873

-54

Executive Product Area

DRAFT SCHEDULE OF QUANTITY

Name of work:- Restoration of Rain damages on Shallaghat Arki Kunihar Barotiwalla road km 17/500 to 26/000 (SH:- Estimated Cost: -Rs 1,42,706/- only C/o B/wall in km 20/780 to 20/792) PDNA

Earnest Money: Rs 3000 /-0nly

Time -One Months

						Time -One Months			
S.N o. 1	Sub head and items of work 2			Rate		Unit 6	Amount 7		
				In figure	In words				
1	Earthwork in excavation for structures as per drawing and technical specification clause 305.1 including setting out construction of shoring and bracing ,removal of stumps and other deleterious materials and disposal upto all leads and lifts dressing of sides and bottom and backfilling in trenches with excaveted suitable materials as per MORD Specification directed by Engineer-In- Charge	20.60	Cum	171.40	Rupees one hundred seventy one point four zero only	Per cubic metre	3531.00		
2	Providing and laying Plain cement concrete 1:5.10 (one cement isto Five sand isto ten graded crushed stone aggregate 40 milimetre(forty milimetre) nominal size for plain /reinforced concrete in open foundation complete as per drawings and technical specifications clause 802,803,1202 &1203 and curing complete including the cost of form work and carriage of materials in all leads lifts as per the direction of Engineer-In-Charge.		Cum	4390.60	Rupees Four thousand three hundred & ninety point six zero only	Per cubic metre	136679.00		
3	Providing and laying weapholes in brick masonry /stone masonry /plain reinforced concrete abutment, wing wall return wall with 100mm (one hundred)milimetre dia PVC pipe extending through the full width of the structures with slop of 1(v);20 (H) towards drawing face complete as per drawings and technical specifications MORD clause 614,709,1204.3.7 including carriage of materials within all leads and lifts as per the direction of Engineer-In-Charge.	9.10	Rmt	274.25	Rupees two hundred seventy four point two five only	Per running metre	2496.00		
	por tile direction of Englises in one go.					Total	142706.00		

